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Qui di seguito elenchiamo le domande delle risposte sbagliate:
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"
type=\"audio/mp3\"></audio><br>Scientists have discovered how to...
tua risposta: stop the ageing process
risposta esatta: make the skin of mice look younger
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"
type=\"audio/mp3\"></audio><br>The equivalent gene in human beings...
tua risposta: functions in a completely different way
risposta esatta: works in a comparable way
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"
type=\"audio/mp3\"></audio><br>Trying out the procedure in humans
might...
tua risposta: produce too many other genes
risposta esatta: have unpredictable effects
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"
type=\"audio/mp3\"></audio><br>Scientific findings show that ageing is...
tua risposta: a genetic process that cannot be turned back
risposta esatta: an ongoing development determined by genes
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"
type=\"audio/mp3\"></audio><br>This kind of therapy is not yet available
for humans because...
tua risposta: experiments on humans have not been successful so far
risposta esatta: developing treatments is a lengthy process
- Listen to a recording about a new anti-ageing technique.<br><audio
controls><source src=\"testi/audio/2018_5asup_4_Gene_therapy.mp3\"



type=\"audio/mp3\"></audio><br>The problem when applying gene
therapy to humans is how to...
tua risposta: manipulate the little fatty particles
risposta esatta: influence genes in many cells simultaneously
- Choose the correct part for the gap Q7
tua risposta: when they wake up
risposta esatta: as signs that our cats are dreaming
- Read the text about a music critic, then choose the correct
answer:<br>Tom got the job because...
tua risposta: the editor had known he played an instrument
risposta esatta: he claimed to have a relevant skill.
- Read the text about a music critic, then choose the correct
answer:<br>Tom chose the name Major Third because...
tua risposta: it had been his name of piano teacher 
risposta esatta: it sounded appropriate for a music critic
- Read the text about a music critic, then choose the correct
answer:<br>After a while, Tom managed to...
tua risposta: learn everything about music
risposta esatta: make people think he was a music expert
- Read the text about a music critic, then choose the correct
answer:<br>Finally, Tom stayed at home to write his reviews because...
tua risposta: recordings were better than live music
risposta esatta: it was easier than doing his job properly
- Read the text about a music critic, then choose the correct
answer:<br>The opera company changed their plans...
tua risposta: and the time of the performance
risposta esatta: because of an unforeseen problem
- Read the text about a music critic, then choose the correct
answer:<br>Tom?s last review showed that he...
tua risposta: was not such a good writer after all
risposta esatta: did not know which opera he had seen


